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Instructions to candidates

(a) Write your name and index number in the spaces provided above.

(b) Sign and write the date of examination in the spaces provided above.

(c) This paper consists of two sections; A and B.

(d) Answer all the questions in section A.

(e) Answer question 16 and any three questions from section B.

(f) All answers should be written in the spaces provided on the question paper.

(g) This paper consists of 14 printed pages.

(h) Do not remove any pages from this booklet.

(i) Candidates should check the question paper to ascertain that all the pages
are printed as indicated and that no questions are missing.

(j) Candidates should answer the questions in English.
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SECTION A (40 marks)

Y ; Jion in the spaces provided.
Answer all the questions in this section in the sy /

. . hes sarc sector other th
. . . o . used in the health care an ree
1. State two ways in which a computetr could be used 2 ma(l)(rd
Keeping. e
2 2. State four operations that may be performed on a file by an operating system (2 marks)
Q<
3. Explain the term website as used in the Internet. (2 marks)
=
s 4 Explain a reason necessitating governme .
< . ot nts t
P &6 0 enact data protection laws, (2 marks)
21V, o i f1c0 > v Cr
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Uhe following data is 1o be entered in spreadshect cells:
W) 0022 11 000
M 3voron

State the cell format, other than the text format, that can be applied to the respeetive data cells in
onder to appear as it is, (2 marks)

‘---n.‘-.‘u---\.....-\--s\-.--\\-n--‘---.-n-----‘--:\\----g‘\|-‘na-\-------...‘y--...-.-..---‘---.--.----.-n----‘-\-.---.---“........--..--.--us-.-.----

-.--‘---x-o‘.\.‘.-‘\--..-..---\...‘\‘-‘s.-‘.;-‘-.-‘.--|--n----‘--..-\..-x.-.--n-....o-..o...-----..--.----n--o.uu--n-.--'.---..--.---..--..---.----------

When an image inserted in a desktop publishing document is selected, handles onits place holder
appears. State three uses of these handles. (3 marks)

State a circumstance under which dry-run testing is performed when developing a program.
| e o
(2 marks)

000000000808000000000000000000000080000000000080000000008000000000000000000000R000000000 Aerasenes A A e e e  r s i tasitiastiiattaatastsnsssansesnnnane .

R L L T Cesesssnaaanans Tasaes A RARAERRR ARt a R

aesssssstasennne CessesessseEsaTIEALIasERERTRIRRRNRSY

. e54900606650868 6508005000 00050004E0SEIISITITIVIILESIILITINAIILATEAIILENIILEILITERIILILINTLALTLILALEILIELESLTEEEHAIEIEITTNAARAERL400000000040 048

State two ways in which data validation is implemented on an input form of a databasc
application. (2 marks)

€9000000000000000000000080080000sRRTTRTRRRRRRIRES T L L L L T LR R R LT T

cesesenns Ceenane Crssssasssaesesseenenne e e s aaass st s s is i s s sttt s sat st e sasissstssssss st s sssiiisssssiisatsisssasiianicastenirieranietrrrssiansrrarrrenes

........................................ e essaasssssasas st st i sstssttiessesisstssesstiosssssss it sasesstseiiieesnttisessntastisssesciestsssssssasssnnaney
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. . organisation. State three roles that g, is
rine

: .omputer traine (3 mar..
9. Mikal has been cmploycd. as a comj arkg)
likely to play in the organisatiof.
(3 mark
. . . S in computers. s)
10.  List three electronic data processing modes used
11.  Distinguish between data collection and data capture as used in data processing. (4 marks)
12.  Describe cach of the following features of a graphical user interface operating system:
.
(a) Pointer (2 marks)
(b) Deskto
P (2 marks)

Secvesevstcscctcttcccerevntanisrtcstctcnnnas
......................
. haAl LLT R LT POy
Tresaea.
----------------
S0etecterrttcttcccsecncsanccnncsansonsete

........................

..................................
...............
......................
.............................................

®ccscacccerersecresturrcsccrnne Seraena
. rersericrierteertannan
. en AL AL L L L LY PP,
R L LT TN .
.. 2
Ptésevectnaciaae . .. sneslity
B T TR LE R L
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14.

15.

State a circumstance under which cach of the following input devices may be used:

(a) Optical character reader (1 mark)
(b)  Optical mark reader (1 mark)
State the characteristics of an impact printer. (3 marks)

...................................................................................................................................

Describe each of the following features of a word processor:

(a)  Hyphenation (2 marks)
(b)  Status bar (2 marks)
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SECTION B (60 marks)

three qm'.vlinn.s' in this section.
Answer question 16 and any other

ages A and B respectively:

T ing langu
16.  (a)  The following arc segments of programming

| ECT name, class
A 00100 B ggOM studentsDetails

R WHERE House= “Athi Boys

g language used in each respective segmeny

(i) Identify the generation of programmin (2 Markg)

Seserssnncrnnraanns eewesssssenresstrtttenag,
evase * sresmeenes . ” .
wesssessarasses =
crsasnas
aevessasenavasans
sssssssansantanes 9

trresssenanaanans so® reee . st nsstrrsererttanaa,,
ssssssanne seeaan
cesene
ssee esd® aenuns
.e ersssseraas -
sessessasrsevssesrentasstanne .
e

(ii) State two advantages of each of the generation of programming language labelleq
Aand B (4 marks)

.....................
............................................
...........................
.......................................
.................................................................

.................................................................

...................................................................
................................................................
...................................................................................................................................
...................................................................................................................................

...................................................................................................................................

(b)  An organisation intends to increase salaries of employees using the following rates:

Current Salary Percentage Increment

Greater than or equal to 70000

5%
Greater than 50000 and less than 70 000 8%
Less than or equal to 50000 10%

Write a pseudocode that reads the tota] populatio

: n of empl S i vanisation and
then performs the following for each employee: SRS INE Gty

*  Reads the current salary
*  Compute the increment

e Display current salary, increment and the new salary

int: increment = current salary Sree S s B
Hint: increment = cu lary X percentage mcrement rate 9 marks)

Kenya Certificate of Secondary Fq,,
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(b)  Subtract 17,; from 23, using 8-bits one’s complement leaving the answer in binary

ks

notation (4 marks)

. m
.................
........................
..................
........

§ - s s sEa s S S R T . LT S

- erea————— T T T ee————. R e s

(7]

0]

=+

o

)

2 .......... B o Seesivissouvene sececscnsssase sesessens T — Tt etettitietteteiinetanaenany Y o R PR, tesescereertasscccnenae

Q

[%]

~+

(@]

S. . e A erer—————— Ty eva——— i R S St teteeateetereraaeteeeennnnnnnensnnnss
—— disisnsnnnns —— —— ST S el Bt B R S ereereseetteeees e nanraeeeesnnnnns
.........
R T ok ... s s i< Samas e Beeesettttiaaet bt seseanesesranees ennneemnnnnnsees
.......
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State four wavs i h
o) S VS in which SR
% graphic chigllcr would use a computer in a media company
(4 marks)

) State three functions of - ] . ’
4N Operating system in respect to disk management. (3 marks)

) Explain three benefits of e-commerce to a company that deals with importation and selling
R Cars: (6 marks)

S EE

s -------- L S G ST BRI T Y5 S IR ST RS DG bl bttt ity

§ -----------

~

e isesses iR AR AR e S e o

) 000 essssssscssess esvescsscsccescscssccssssccvenne

?
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0 . for this study.
isti state five reasons S \
1alyst intends t study an existing systcm. St s W
(b) A systems ang

.............................

aae
........
-------
------
-------
-------
--------
----------------------------
anee
--------------
---------------------

-----------------
.............
-------
-------
ooooooo
-------
-------
........................
.
.............
-----------------

---------------------
--------------------

,,,.,.............--.............
eesssevece ese
. .

esesoosoences? e E0IENN00ECOREE essssenne
sensne aee .o
..

(c)  Distinguish between usability testing and functional testing as used in system deve(l:pme:ti
marks

................... ...-n--.-.-.....-.-.-................-...-.-...-...---.---.-.....
essessessrsanne assense P T L LL R L sesesenene sasesrenensnnnne cessessesseasanens sesssserevanans eesssssnsnen vanene IELEEEEE sessens .
sessesnnes ssssssrsrencnee sesssssesnssvesacsnnes see0eesssessereserssesesceeeERRTe Ceseseseasesesseranees eessssssssavenans sesnes sesenenne .

ressssassessesestenRessrIRRaTIES “enee seee Creesnes seseseassenes eesesssssasseserenraneren tesasennens sesestesnsrnanes tesane EERER
sessssssrnnescanan seesn srensens eetssensraressansannene veeene sessenes . S L L LR LR L
sesssesatsrasesnsrrnesnny essseressneressranen [ T L L LR L] tesees P R L L L L LR R R L L L L
------ erssesssssrnrenens 0900000800080 0s000000000080000000sNetsesetersecottacerittcrnctsiisisas
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9 @) Ixplain the purpose of each f
| of the following features of a spreadsheet chart:
(1) Legend
(2 marks)
(i)  Data series (2 marks)
marks
(2 marks)

(iii) Data marker

----------------------------
---------
----------------------------------------------------------------------------------------------
--------------------------
---------------------------------------------------------------------------------------------------------

-----------------------------------------------------------------------------------------------------------------------------------

k. Explain three challenges that the school

(b) A school intends to install a computer networ
(6 marks)

may experience after the installation.

----------------------------------------------------------------------------------------------------------------------------------------------
--------------------------------------------------------------------------------------------------------------------------------------------
. .
-----------------------------------------------------------------
-------------------------------
----------------------------------------------
---------
-------------------------------------------------------
..............................................................................

P T Y Y T LY LT L XL AL A essssanenes ...........--o-.----u--o-.--n---o---o..-.-“..........................,.,
e .............,.,,,“,..
seesspececcee



12

. isation. Explain ¢y,
k foranorgani ree
(ruct anctwork f ; he 1
- . . been tasked to construct : he media for the connectivyig
o rat ICT company has been taskec . w colocting the y.
OFT il ek - should consider when selecting (3
factors that the company should cons _ marks)

.....................
-------------
"""""""""""""""
e
-------
------
--------
----------
......................................................
..................
...............
.....................
seas
----------------------
.................
...........................................
----------------------------------------
.........
--------
oooooooo
.........

--------------------------------------------------------------------

Seehsvvesesase sevssse o esscessscncscsene seesessessssresIIIIIISLEsctrna
e » 006 “oe
. . . enes
sessssssasnssnnen . P
% “sscscsssssne

MR A L N Ry easeeeedde I N
g At ersssnne
R R AR R L R sesns

State the functions of each of the following protocols as used in computer network:

()  SMTP

(1 mark)
(i)  FTP (1 mark)
ii)  DNS
(1 mark)
l ®e0scecveccronnne tesesecnsesnanae
¢ two characteristics of cach of the following network topo]
ogies
Mesh topology
(2 marks)

........
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With the ad ol di
nding .
e deseribe nocentralised computi i 7
sed computing configuration. (4 mzT4s)
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; ‘ o ts:
(d)  Explain each of the following computer security threa

_ (2 marks)
(1) Social engineering

---------------------------------------------
.......
---------
----------
------------------------------------------------------------
------------------------------
-------------
-----------
-----------------------------------------------------------------------------
............................................
s
------------

-----------------------------------------------------------------------

(if)  Vulnerability. (2 marks)

...................................................................................................................................
...................................................................................................................................

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo
e
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